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QUESTION 1

Fortunately, Ms. Mason has the unusual ability to transform a tedious legal contention into an account. 

A. arid 

B. erratic 

C. improbable 

D. absorbing 

E. interminable 

Correct Answer: D 

The use of the word "fortunately" shows that the unusual ability of Ms. Mason is a desirable one. 

So, the result of the transformation of the tedious legal contention must have been something more 

desirable. 

Among the choices, it is only the word "absorbing" that represents a desirable quality. So, "absorbing" is 

the answer. 

 

QUESTION 2

Which statement best compares the precipitation between Albany and Coral Bay? 

A. Albany is usually slightly wetter than Coral Bay. 

B. Coral Bay is always much wetter than Albany. 

C. Coral Bay is usually slightly wetter than Albany. 
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D. There is no difference between Albany and Coral Bay. 

Correct Answer: C 

By comparing the differences between Albany and Coral Bay, Coral Bay is typically a little wetter on average than
Albany. 

 

QUESTION 3

Read the list of words and follow the directions to rearrange the list. 

dog mouse friendly light stocking elephant 

1.

 Put the words that are animals in order of animal size, largest to smallest. 

2.

 Following the animals, put the words representing non-living things in alphabetical order based on the last letter of the
word. 

3.

 Put the two animal words containing one syllable first, in reverse-alphabetical order. 

4.

 Put the non-animal word with one syllable last. 

After following the directions in the list, which word comes between dog and stocking? 

A. elephant 

B. mouse 

C. light 

D. friendly 

Correct Answer: A 

 

QUESTION 4
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Based on the poster, when should you create your bibliography for a research paper? 

A. after choosing your topic and narrowing the focus 

B. at the end, after completing your paper 

C. as you brainstorm for topic ideas 

D. as you find sources and reference material 

Correct Answer: D 

 

QUESTION 5

The descriptions in these essays range widely, from the fanciful to the matter-of-fact, from the ____________ to the
fatuous, from the objective to the ____________. 

A. witty; realistic 

B. meager; descriptive 

C. insightful; impressionistic 

D. inane; commonplace 
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E. articulate; empirical 

Correct Answer: C 

One example of the wide range of description in the essays referred to in the given sentence is mentioned as "from the
fanciful to the matter-of-fact." Since these are exact opposites. The other two phrases should also represent exact
opposites so, the first missing must be the opposite of the word "fatuous" (meaning silly), and the second missing word
must be the opposite of the word "objective" (meaning unemotional). Among the given choices, it is the pair "insightful;
impressionistic" which are the opposites of "fatuous" and "subjective" respectively. So, "insightful; impressionistic" is the
answer. 
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